## Unique Auctions Catalogue 24 Aug 2016

| 1  | A Wicks garden shredder £10.00 - £20.00                | 41 | A quantity of frames A/F £10.00 - £20.00                          |
|----|--|----|---|
| 2  | A Power Derit Lawnsman spreader £10.00 - £20.00        | 42 | A box of children's toys £10.00 - £20.00                          |
| 3  | A quantity of milking buckets £10.00 - £20.00          | 43 | A quantity of cat ornaments etc. £10.00 - £20.00                  |
| 4  | 4 milking buckets                                      | 44 | A generator A/F £10.00 - £20.00                                   |
|    | £10.00 - £20.00  | 45 | A heavy electric drill £10.00 - £20.00                            |
| 5  | 3 galvanised wash buckets £10.00 - £20.00              | 46 | A generator A/F £10.00 - £20.00                                   |
| 6  | 2 milking buckets £10.00 - £20.00                      | 47 | A milking machine £10.00 - £20.00                                 |
| 7  | A large milk churn £10.00 - £20.00                     | 48 | A dolls house, high chair & 1 other items £10.00 -                |
| 8  | A brass fire sword £10.00 - £20.00                     |    | £20.00  |
| 9  | A quantity of saucepans £10.00 - £20.00                | 49 | A quantity of wicker baskets etc. £10.00 - £20.00                 |
| 10 | A Belfast sink (Trolley not included) £10.00 - £20.00  | 50 | A quantity of wooden items including small chairs £10.00 - £20.00 |
| 11 | A 2 piece iron garden set £10.00 - £20.00              | 51 | A bench saw   |
| 12 | A quantity of garden planters £10.00 - £20.00          | 52 | A new air conditioning unit                                       |
| 13 | A wheel barrow & contents £10.00 - £20.00              | 53 | A new air conditioning unit                                       |
| 14 | A wicker chair` £10.00 - £20.00                        | 54 | A large quantity of plumbing tools and fittings                   |
| 15 | 3 coal buckets £10.00 - £20.00                         | 55 | A large quantity of plumbing tools and stock                      |
| 16 | A quantity of fire irons & screen etc. £10.00 - £20.00 | 56 | A quantity of galvanised ducting and lead pipe flashing           |
| 17 | A bath & shower screen £10.00 - £20.00                 | 57 | A very large quantity of piping                                   |
| 18 | A green garden set £10.00 - £20.00                     | 58 | A bricklayers mate  |
| 19 | 4 pasting tables A/F £10.00 - £20.00                   | 59 | A quantity of plumbers tools, fixings and stock                   |
| 20 | A baby play pool £10.00 - £20.00                       | 60 | A Makita drill (working)  |
| 21 | A white garden set £10.00 - £20.00                     | 61 | A Dremel engraver, clamps etc (working)                           |
| 22 | An adjustable fire guard £10.00 - £20.00               | 62 | A flat bed saw  |
| 23 | A quantity of tools £10.00 - £20.00                    | 63 | A tile cutter and 2 hole borers                                   |
| 24 | An old set of shop scales (no tray) £10.00 - £20.00    | 64 | A belt sander (working)   |
| 25 | A roll of wire £10.00 - £20.00                         | 65 | A Kango hammer (working)  |
| 26 | A metal garden arch £10.00 - £20.00                    | 66 | An electric tile cutter (working)                                 |
| 27 | A quantity of garden terracotta pots £10.00 -          | 67 | An electric sander (working)                                      |
| 28 | £20.00 A petrol lawn strimmer (not working) £10.00 -   | 68 | A cordless drill with charger and batter packs (working)          |
|    | £20.00   | 69 | A Makita drill (working)  |
| 29 | A garden pedestal urn £10.00 - £20.00                  | 70 | A box of new drill bits   |
| 30 | A 2 piece metal garden set £10.00 - £20.00             | 71 | A box of new drill bits   |
| 31 | 4 old kitchen chairs £10.00 - £20.00                   | 72 | A box of new drill bits   |
| 32 | A quantity of old tools £10.00 - £20.00                | 73 | A box of new drill bits   |
| 33 | An old brass fender £10.00 - £20.00                    | 74 | A box of new drill bits   |
| 34 | A blue wicker bedroom chair £10.00 - £20.00            | 75 | A quantity of levels and rules                                    |
| 35 | A green wicker bedroom chair £10.00 - £20.00           | 76 | 3 boxes of tools and plumbing stock                               |
| 36 | A garden shredder £10.00 - £20.00                      | 77 | A quantity of new cutting discs                                   |
| 37 | 3 concrete drilling tools £10.00 - £20.00              | 78 | A 3 drawer filing cabinet   |
| 38 | A quantity of odd chairs £10.00 - £20.00               | 79 | A new basin   |
| 39 | A garden table, 2 chairs & a parasol £10.00 - £20.00   | 80 | A tool box, bag, cowling etc                                      |
| 40 | A corner cupboard £10.00 - £20.00                      | 81 | 3 electric fans   |

1

BidMaster Office

40 A corner cupboard £10.00 - £20.00

| 82  | A large quantity of plaster edging and door bars tec |      | £20.00   |
|-----|--|------|--|
| 83  | A quantity of new bse units, doors, shelves etc      | 126  | A quantity of soft toys £10.00 - £20.00                                      |
| 84  | 2 tool cabinets                                      | 127  | A quantity of cutlery £10.00 - £20.00  |
| 85  | 2 boxes of tools and plumbing stock                  | 128  | A shelf of flowers etc. £10.00 - £20.00                                      |
| 86  | 2 old carver chairs                                  | 129  | A shelf of LP records £10.00 - £20.00  |
| 87  | An old brass fender                                  | 130  | A shelf of books £10.00 - £20.00   |
| 88  | 5 boxes of glassware                                 | 131  | A shelf of new tapes etc. £10.00 - £20.00                                    |
| 89  | 4 boxes of cutlery                                   | 132  | A shelf of miscellaneous electrical items £10.00 -                           |
| 90  | A workmate   |      | £20.00   |
| 91  | A large quantity of brassware                        | 133  | A pair of mahogany tables £10.00 - £20.00                                    |
| 92  | A large quantity of china and glassware              | 134  | A box of ephemera £10.00 - £20.00  |
| 93  | A large clothes airer                                | 135  | A Goodmans stereo £10.00 - £20.00  |
| 94  | A Black and Decker cordless drill (working)          | 136  | A shelf of bags etc. £10.00 - £20.00   |
| 95  | 2 leather box seats etc                              | 137  | A shelf of china £10.00 - £20.00   |
| 96  | A box of tools, brushes etc                          | 138  | A shelf of china £10.00 - £20.00   |
| 97  | A black glass TV stand                               | 139  | A modern wicker chair £10.00 - £20.00  |
| 98  | 2 old stools   | 140  | An old mirror & table top etc. £10.00 - £20.00                               |
| 99  | A display cabinet £10.00 - £20.00                    | 141  | A D shaped pine hall table £10.00 - £20.00                                   |
| 100 | A display cabinet £10.00 - £20.00                    | 142  | A quantity of golf clubs £10.00 - £20.00                                     |
| 101 | 3 stools etc.  | 143  | A panasonic vacuum cleaner £10.00 - £20.00                                   |
| 102 | A pair of horse hames                                | 144  | 2 vacuum cleaners, Goblin & Electrolux £10.00 -                              |
| 103 | A roof rack  | 145  | £20.00 A good Dyson vacuum cleaner £10.00 - £20.00                           |
| 104 | A quantity of golfing items                          | 146  | 6 standard lamps £10.00 - £20.00   |
| 40- |  | 147  | A Casio keyboard in box £10.00 - £20.00                                      |
| 105 | A mini piano   | 148  | A quantity of gas welding accessories £10.00 -                               |
| 106 | A quantity of pictures                               | 1 10 | £20.00   |
|     | , , ,  | 149  | A shelf of fishing items £10.00 - £20.00                                     |
| 107 | A formica drop leaf table                            | 150  | 4 table lamps £10.00 - £20.00  |
| 108 | A nest of walnut tables £10.00 - £20.00              | 151  | 2 shelves of good books £10.00 - £20.00                                      |
| 109 | A good selection of china £10.00 - £20.00            | 152  | 2 shelves of tools etc. £10.00 - £20.00                                      |
| 110 | A telephone table £10.00 - £20.00                    | 153  | 2 new electrical items £10.00 - £20.00                                       |
| 111 | A kitchen dresser £10.00 - £20.00                    | 154  | A shelf of good books £10.00 - £20.00  |
| 112 | A large quantity of glass £10.00 - £20.00            | 155  | A shelf of pictures £10.00 - £20.00  |
| 113 | A shelf of china £10.00 - £20.00                     | 156  | A shelf of light bulbs £10.00 - £20.00                                       |
| 114 | A pair of 3 drawer white chests £10.00 - £20.00      | 157  | A shelf of pictures £10.00 - £20.00  |
| 115 | A pair of 3 drawer white chests £10.00 - £20.00      | 158  | A Panasonic receiver & Sonata radio £10.00 -                                 |
| 116 | A triple mirror £10.00 - £20.00                      |      | £20.00   |
| 117 | A 3 drawer white chest of drawers £10.00 - £20.00    | 159  | A new DVD/VCR combi £10.00 - £20.00  |
| 118 | A white 3 drawer dressing table £10.00 - £20.00      | 160  | A tool box etc. £10.00 - £20.00  |
| 119 | A 2 over 4 white chest of drawers £10.00 - £20.00    | 161  | A new coal effect fire £10.00 - £20.00                                       |
| 120 | A 5 shelf bookcase £10.00 - £20.00                   | 162  | A shelf of mixed items including clock, zither & mirror etc. £10.00 - £20.00 |
| 121 | A quantity of linen £10.00 - £20.00                  | 163  | A shelf of wooden items £10.00 - £20.00                                      |
| 122 | A shelf of art pottery £10.00 - £20.00               | 164  | A shelf of magazines etc £10.00 - £20.00                                     |
| 123 | A box of electric cable £10.00 - £20.00              | 165  | A shelf of electrical items & spares etc. £10.00 -                           |
| 124 | A shelf of books £10.00 - £20.00                     | . 00 | £20.00   |
| 125 | A quantity of lights & table decorations £10.00 -    | 166  | A shelf of sundry items £10.00 - £20.00                                      |
|     |  |      |  |

| 167 | An inlaid Mother of Pearl table £10.00 - £20.00                 | 209 | A shelf of good glassware £10.00 - £20.00                 |
|-----|---|-----|---|
| 168 | An old mahogany pie crust table £10.00 - £20.00                 | 210 | A shelf of miscellaneous etc. £10.00 - £20.00             |
| 169 | A teak melamine cabinet £10.00 - £20.00                         | 211 | A shelf of miscellaneous china etc. £10.00 - £20.00       |
| 170 | A teak sideboard £10.00 - £20.00                                | 212 | A good selection of pictures & oil on canvases            |
| 171 | A flat screen television (Flatron) £10.00 - £20.00              | 212 | etc. £10.00 - £20.00                                      |
| 172 | A set of kitchen scales £10.00 - £20.00                         | 213 | A new complete wooden loft ladder £10.00 - £20.00         |
| 173 | A 3 seater settee & armchair £10.00 - £20.00                    | 214 | A large picture 'flowers on bench' £10.00 - £20.00        |
| 174 | An antique inlaid table & 3 tier cake stand A/F £10.00 - £20.00 | 215 | A picture/engraving of United Grand Lodge £10.00 - £20.00 |
| 175 | 2 large good boxes of embroidered items £10.00 -                | 216 | An old tin bucket & an oil lamp £10.00 - £20.00           |
| 170 | £20.00  | 217 | A large picture in gilt frame £10.00 - £20.00             |
| 176 | An oak refectory table & 4 chairs £10.00 - £20.00               | 218 | A large quantity of LP's & 45rpm records £10.00 -         |
| 177 | A floor standing fan £10.00 - £20.00                            |     | £20.00  |
| 178 | A Samsung video player £10.00 - £20.00                          | 219 | 2 inlaid music sewing tables A/F £10.00 - £20.00          |
| 179 | A quantity of books £10.00 - £20.00                             | 220 | A large glass top dining table £10.00 - £20.00            |
| 180 | A teak cabinet £10.00 - £20.00                                  | 221 | A pair of good electric beds £10.00 - £20.00              |
| 181 | A quantity of CD's & a CD rack £10.00 - £20.00                  | 222 | An excellent 5' divan bed £10.00 - £20.00                 |
| 182 | 3 Victorian chairs £10.00 - £20.00                              | 223 | A period oak side table £10.00 - £20.00                   |
| 183 | A wicker bedroom chair £10.00 - £20.00                          | 224 | 5 good boxes of books £10.00 - £20.00                     |
| 184 | A large art bowl, Vase & books etc £10.00 - £20.00              | 225 | A glass topped table £10.00 - £20.00                      |
| 185 | A quantity of collectors magazines £10.00 - £20.00              | 226 | An oak gate leg table £10.00 - £20.00                     |
| 186 | A pine towel rail £10.00 - £20.00                               | 227 | A shelf of good Chinese porcelain £10.00 - £20.00         |
| 187 | A quantity of interesting china £10.00 - £20.00                 | 228 | A shelf of old tea ware £10.00 - £20.00                   |
| 188 | A mahogany glass topped side table £10.00 -                     | 229 | A shelf of office items £10.00 - £20.00                   |
|     | £20.00  | 230 | A box of antique reference books £10.00 - £20.00          |
| 189 | An interesting box of collectors tins £10.00 -                  | 231 | A part dinner service £10.00 - £20.00                     |
| 400 | £20.00  | 232 | A flat screen television £10.00 - £20.00                  |
| 190 | A horn gramaphone A/F £10.00 - £20.00                           | 233 | A pair of large pictures £10.00 - £20.00                  |
| 191 | A bedside cabinet £10.00 - £20.00                               | 234 | 2 pictures £10.00 - £20.00                                |
| 192 | An oak 3 drawer school desk £10.00 - £20.00                     | 235 | A large oil on canvas £10.00 - £20.00                     |
| 193 | A quantity of suitcases £10.00 - £20.00                         | 236 | A part dinner/tea ware set £10.00 - £20.00                |
| 194 | A wicker box etc. £10.00 - £20.00                               | 237 | A pine bookcase £10.00 - £20.00                           |
| 195 | A period oak gate leg table £10.00 - £20.00                     | 238 | 3 shelves of old china £10.00 - £20.00                    |
| 196 | An E.G. flat screen television £10.00 - £20.00                  | 239 | A box of hard backed books £10.00 - £20.00                |
| 197 | A Zanussi washing machine £10.00 - £20.00                       | 240 | An oil on canvas £10.00 - £20.00                          |
| 198 | A complete new bathroom suite £10.00 - £20.00                   | 241 | A Victorian oil painting £10.00 - £20.00                  |
| 199 | A Zanussi fridge freezer £10.00 - £20.00                        | 242 | A quantity of good china £10.00 - £20.00                  |
| 200 | A Shape microwave £10.00 - £20.00                               | 243 | A small box of miscellaneous including Wade               |
| 201 | A Pacific microwave £10.00 - £20.00                             |     | decanter £10.00 - £20.00                                  |
| 202 | A Studio microwave £10.00 - £20.00                              | 244 | A quantity of old dinnerware £10.00 - £20.00              |
| 203 | A White Knight tumble dryer £10.00 - £20.00                     | 245 | An old kitchen armchair £10.00 - £20.00                   |
| 204 | A wristwatch wall clock £10.00 - £20.00                         | 246 | A quantity of china animals etc. £10.00 - £20.00          |
| 205 | An old pine glazed dresser top £10.00 - £20.00                  | 247 | A pair of good conservatory chairs £10.00 - £20.00        |
| 206 | An old set of scales with weights & 2 mincers £10.00 - £20.00   | 248 | An Emenee Audion organ £10.00 - £20.00                    |
| 207 | A Sony stereo £10.00 - £20.00                                   | 249 | A quantity of china animals etc. £10.00 - £20.00          |
| 207 | ·   | 250 | A goosd selection of wooden items £10.00 - £20.00         |
| 200 | A sheld of good china £10.00 - £20.00                           | 251 | A selection of sheet music £10.00 - £20.00                |

3

| 252  | A quantity of pictures £10.00 - £20.00                             | 293 | A good mahogany draw leaf table & 6 chairs £10.00 - £20.00 |
|------|--|-----|--|
| 253  | A quantity of games etc. £10.00 - £20.00                           | 294 | An old pokerwork rocking chair £10.00 - £20.00             |
| 254  | A selection of 1960's smoked glassware £10.00 - £20.00             | 295 | A candelabra & candlestick £10.00 - £20.00                 |
| 255  | A quantity of linen & pillows etc. £10.00 - £20.00                 | 296 | A box containing silk ties £10.00 - £20.00                 |
| 256  | A Panasonic music centre £10.00 - £20.00                           | 297 | A Victorian mahogany bedroom chair £10.00 -                |
| 257  | A quantity of table lamps etc. £10.00 - £20.00                     |     | £20.00   |
| 258  | A quantity of interesting toys £10.00 - £20.00                     | 298 | A good selection of 1950's collectors toys £10.00 - £20.00 |
| 259  | 3 old drawers & a box £10.00 - £20.00                              | 299 | A top quality dining table £10.00 - £20.00                 |
| 260  | A box of What's it worth magazine £10.00 - £20.00                  | 300 | A pair of old oval pictures of ladies £10.00 - £20.00      |
| 261  | A record player & quantity of 78rpm records £10.00 - £20.00        | 301 | 4 speakers & music equalizer £10.00 - £20.00               |
| 262  |  | 302 | A lift up foot stool £10.00 - £20.00                       |
| 262  | 2 brass glass topped side tables £10.00 - £20.00                   | 303 | A silver painted hall chair £10.00 - £20.00                |
| 263  | A quantity of collectors plates (6) £10.00 - £20.00                | 304 | A mahogany drop front dresser £10.00 - £20.00              |
| 264  | A quantity of antique & latter Chinese plates etc. £10.00 - £20.00 | 305 | 2 Victorian bedroom chairs £10.00 - £20.00                 |
| 265  | A quantity of wine racks £10.00 - £20.00                           | 306 | A pair of Victorian fire dogs & Victorian flat irons       |
| 266  | A large quantity of books £10.00 - £20.00                          |     | etc. £10.00 - £20.00                                       |
| 267  | A quantity of CD's & a CD rack £10.00 - £20.00                     | 307 | An oil on canvas £10.00 - £20.00                           |
| 268  | A quantity of wicker baskets etc. £10.00 - £20.00                  | 308 | 2 Highland pictures £10.00 - £20.00                        |
| 269  | 5 boxes of books £10.00 - £20.00                                   | 309 | A large crate of collectors bottles £10.00 - £20.00        |
| 270  | A large pine framed mirror £10.00 - £20.00                         | 310 | A suitcase containing designer shoes £10.00 -              |
| 271  | A quantity of white linen £10.00 - £20.00                          | 311 | £20.00 2 large shelves of books £10.00 - £20.00            |
| 272  | An Ativa paper shredder £10.00 - £20.00                            | 312 | 2 long shelves of good china & glass £10.00 -              |
| 273  | A wool designed top foot stool £10.00 - £20.00                     | 312 | £20.00   |
| 274  | A Lloyd loom style bedroom chair £10.00 - £20.00                   | 313 | 4 very good wool pictures £10.00 - £20.00                  |
| 275  | A quantity of good curtains £10.00 - £20.00                        | 314 | A Bontempi Hit organ £10.00 - £20.00                       |
| 276  | A pine magazine rack £10.00 - £20.00                               | 315 | A good watercolour of wild flowers £10.00 - £20.00         |
| 277  | A box of LP records £10.00 - £20.00                                | 316 | 2 iron fire screens £10.00 - £20.00                        |
| 278  | A box of LP records £10.00 - £20.00                                | 317 | A carpet runner £10.00 - £20.00                            |
| 279  | A box of LP records £10.00 - £20.00                                | 318 | A large limited edition picture by Bill Waugh              |
| 280  | A quantity of table lamps £10.00 - £20.00                          |     | £10.00 - £20.00  |
| 281  | A good modern mahogany dresser £10.00 - £20.00                     | 319 | A limited edition picture £10.00 - £20.00                  |
| 282  | An oak table & 5 wheel back chairs £10.00 - £20.00                 | 320 | A large quantity of History of the War £10.00 - £20.00     |
| 283  | 2 box stools & a basket £10.00 - £20.00                            | 321 | A good selection of antique brass £10.00 - £20.00          |
| 284  | A box stool £10.00 - £20.00  | 322 | A selection of silver plate flatware £10.00 - £20.00       |
| 285  | A Platinum rose tea & fruit set £10.00 - £20.00                    | 323 | A quantity of writing boxes A/F & an inlaid table          |
| 286  | An antique Bible £10.00 - £20.00                                   |     | top £10.00 - £20.00  |
| 287  | A good draw leaf table & 4 chairs (light oak)                      | 324 | A cutlery set in box £10.00 - £20.00                       |
|      | £10.00 - £20.00  | 325 | 4 metal & china figures etc. £10.00 - £20.00               |
| 288  | A black fox fur £10.00 - £20.00                                    | 326 | 2 copper kettles etc. £10.00 - £20.00                      |
| 289  | A Royal Standard part tea & dinner service £10.00 - £20.00         | 327 | 4 wooden biscuit barrels £10.00 - £20.00                   |
| 290  | 2 mirrors £10.00 - £20.00  | 328 | A quantity of collectors plates (6) £10.00 - £20.00        |
| 291  | A small drop leaf leather top side table £10.00 -                  | 329 | A spinning chair £10.00 - £20.00                           |
| _0 1 | £20.00   | 330 | A barometer £10.00 - £20.00                                |
| 292  | 3 shaving mirrors £10.00 - £20.00                                  | 331 | An Imperial typewriter £10.00 - £20.00                     |
|      |  | 332 | A fur cape in original box £10.00 - £20.00                 |

| 333 | A pine cabinet £10.00 - £20.00  |            | £20.00  |
|-----|---|------------|---|
| 334 | A set of 3 Edwardian bedroom chairs £10.00 -                            | 371        | A set of 3 cast wall birds £10.00 - £20.00  |
|     | £20.00  | 372        | 10 old brass picture frames £10.00 - £20.00   |
| 335 | A Victorian leather travelling suitcase £10.00 -                        | 373        | An old chrome car clock £10.00 - £20.00   |
|     | £20.00  | 374        | A large quantity of Wade figures £10.00 - £20.00  |
| 336 | Two 2002 bottles of Villa Branca in original wooden box £10.00 - £20.00 | 375        | An old metal coin box £10.00 - £20.00   |
| 337 | A Victorian tea caddy and mahogany sewing box                           | 376        | 2 Victorian brass paper knives £10.00 - £20.00  |
| 337 | a/f £10.00 - £20.00   | 377        | A tray of old watches £10.00 - £20.00   |
| 338 | A picture of a bird in a gilt frame £10.00 - £20.00                     | 378        | 9 old paperweights £10.00 - £20.00  |
| 339 | 2 Chinese figures £10.00 - £20.00                                       | 379        | A mahogany tripod table with drawer £10.00 -  |
| 340 | 2 very heavy cast brass cannons £10.00 - £20.00                         |            | £20.00  |
| 341 | An oil on canvas £10.00 - £20.00  | 380        | The Royal Monmouth Militia date 1910 £10.00 - £20.00  |
| 342 | A pair of old bedroom chairs £10.00 - £20.00                            | 204        |   |
| 343 | A good pair of pictures £10.00 - £20.00                                 | 381<br>382 | A quantity of old stamps £10.00 - £20.00  3 early Chinese plates with wicker edges £10.00 - |
| 344 | 3 Victorian carved hall chairs £10.00 - £20.00                          | 302        | £20.00  |
| 345 | An oil on board of Chinese junks £10.00 - £20.00                        | 383        | 2 Victorian bibles £10.00 - £20.00  |
| 346 | A Samsung flat screen TV in working order £10.00                        | 384        | A Royal Doulton figurine Katie £10.00 - £20.00  |
|     | - £20.00  | 385        | A quantity of Victorian glass £10.00 - £20.00   |
| 347 | A large pine bootle rack with drawer £10.00 - £20.00                    | 386        | A quantity of platic soldiers £10.00 - £20.00   |
| 348 | A quantity of old china £10.00 - £20.00                                 | 387        | A quantity of Victorian glass £10.00 - £20.00   |
| 349 | An old oak desk £10.00 - £20.00   | 388        | Old 1960s metal spice containers £10.00 - £20.00  |
| 350 | 2 old mantel clocks £10.00 - £20.00                                     | 389        | A quantity of Antique reference books £10.00 -  |
| 351 | A large picture on canvas £10.00 - £20.00                               |            | £20.00  |
| 352 | A quantity of china and glass £10.00 - £20.00                           | 390        | An old Victorian coal box with liner £10.00 - £20.00  |
| 353 | 3 drawer pin bedside cabinet £10.00 - £20.00                            | 391        | A tray of Lincoln City Imps football programmes £10.00 - £20.00                             |
| 354 | 3 drawer pin bedside cabinet £10.00 - £20.00                            | 392        | A Victorian coal box with brass front £10.00 -  |
| 355 | 4 old Mrs Beeton Cookery books £10.00 - £20.00                          | 332        | £20.00  |
| 356 | A Victorian Rosewood pole screen a/f £10.00 - £20.00                    | 393        | A large embroidered picture in gilt frame £10.00 - £20.00                                   |
| 357 | A quantity of children's books £10.00 - £20.00                          | 394        | An early Victorian beaded picture in frame £10.00 -   |
| 358 | A quantity of old bibles £10.00 - £20.00                                |            | £20.00  |
| 359 | An old Voightlander caera £10.00 - £20.00                               | 395        | A quantity of tea cards in books and loose £10.00 -   |
| 360 | A libation cup £10.00 - £20.00  | 396        | £20.00 A mahogany tripod inlaid top table £10.00 - £20.00                                   |
| 361 | A quantity of interesting trinket boxes £10.00 - £20.00                 | 397        | A large quantity of silver plate and pewter £10.00 - £20.00                                 |
| 362 | A quantity of interesting trinket boxes £10.00 - £20.00                 | 398        | 6 Coalport collectors plates of Birds £10.00 -  |
| 363 | A box of costume jewellery £10.00 - £20.00                              | 399        | £20.00 A pair of Omiya binoculars £10.00 - £20.00   |
| 364 | A box of costume jewellery £10.00 - £20.00                              | 400        | An old Victorian cheesedish and 2 pair of vases   |
| 365 | An interesting quantity of glass including paperweights £10.00 - £20.00 |            | £10.00 - £20.00   |
| 366 | A jewellery box containing jewellery £10.00 -                           | 401        | An old Victorian chair £10.00 - £20.00  |
| 367 | £20.00 Old Victorian doll heads £10.00 - £20.00                         | 402        | An early Victorian and metal striped tub £10.00 - £20.00                                    |
| 368 | A quantity of old treen £10.00 - £20.00                                 | 403        | An old suitcase and wicker basket £10.00 - £20.00   |
| 369 | A tray of costume jewellery £10.00 - £20.00                             | 404        | A mahogany cabinet £10.00 - £20.00  |
| 370 | A large quantity of old plastic price tags £10.00 -                     | 405        | An old oil on board £10.00 - £20.00   |
| 5.0 |   | 406        | A nest of 3 oak tables £10.00 - £20.00  |

| 407        | An old Corona tunavuritar C40 00 C20 00  |     | hrone iunk C40 00 C20 00                                  |
|------------|--|-----|---|
| 407        | An old Corona typewriter £10.00 - £20.00   | 440 | brass junk £10.00 - £20.00                                |
| 408        | An old silver cigarette box a/f £10.00 - £20.00  | 446 | A large bevelled mirror in gilt frame £10.00 - £20.00     |
| 409        | A chine figure of Cinderella £10.00 - £20.00   | 447 | A figure of a Deco Lady £10.00 - £20.00                   |
| 410<br>411 | A large Beswick figure of a dog £10.00 - £20.00<br>A quantity of Christmas items etc £10.00 - £20.00 | 448 | 4 pairs of Victorian brass candlesticks £10.00 - £20.00   |
| 412        | A quantity of cut glass £10.00 - £20.00  | 449 | A large quantity of cameras £10.00 - £20.00               |
| 413        | An old barometer £10.00 - £20.00   | 450 | A silver plate tray and contents £10.00 - £20.00          |
| 414        | A pair of good black hall chairs £10.00 - £20.00   | 451 | A quantity of cut glass £10.00 - £20.00                   |
| 415        | A Royal Doulton clock on tray £10.00 - £20.00  | 452 | A large bevelled mirror in gilt frame £10.00 - £20.00     |
| 416        | 3 oak biscuit barrels £10.00 - £20.00  | 453 | A tin tray of crested ware £10.00 - £20.00                |
| 417        | A cut glass decanter and 2 sets of glass £10.00 -  | 454 | A pair of bisque vases and house £10.00 - £20.00          |
|            | £20.00   | 455 | A pair of Zenith binoculaurs £10.00 - £20.00              |
| 418        | An old 3 tier cake stand £10.00 - £20.00   | 456 | A retro style table light £10.00 - £20.00                 |
| 419        | 2 digital cameras Concord and 1 other £10.00 -   | 457 | A gilt framed bevelled wall mirror £10.00 - £20.00        |
|            | £20.00   | 458 | 18 old Penguin books £10.00 - £20.00                      |
| 420        | A quantity of children's books £10.00 - £20.00   | 459 | A violin in case £10.00 - £20.00                          |
| 421        | 3 good old books including Around the World etc<br>£10.00 - £20.00                                   | 460 | A set of 3 blue and white meat platters £10.00 - £20.00   |
| 422        | A signed limited edition print by Alan B Hayman  | 461 | 5 pictures £10.00 - £20.00                                |
| 400        | £10.00 - £20.00  | 462 | 2 barometers and a wall clock £10.00 - £20.00             |
| 423        | An oil on canvas £10.00 - £20.00   | 463 | An oval wooden wine barrel £10.00 - £20.00                |
| 424        | An old suitcase, briefcase and ships document folder £10.00 - £20.00                                 | 464 | A tray of old brass items etc £10.00 - £20.00             |
| 425        | 7 boxes of old dominoes £10.00 - £20.00  | 465 | An oak framed wall mirror £10.00 - £20.00                 |
| 426        | 3 large Victorian plates £10.00 - £20.00   | 466 | 3 old china jardinieres £10.00 - £20.00                   |
| 427        | A nest of 4 teak tables £10.00 - £20.00  | 467 | A wall mirror in gilt frame £10.00 - £20.00               |
| 428        | A large inlaid handpianted charger £10.00 - £20.00   | 468 | A Victorian jug, bowl, trinket sets etc a/f £10.00 -      |
| 429        | An old Victorian silver plate table gong £10.00 - £20.00   | 469 | £20.00 A box of bags, mirrors, pens etc £10.00 - £20.00   |
| 430        | An old railway man'sn hat £10.00 - £20.00  | 470 | An arch mirror £10.00 - £20.00                            |
| 431        | 2 boxes of soldiers etc £10.00 - £20.00  | 471 | A tin of old toys £10.00 - £20.00                         |
| 432        | A large old brass coal box £10.00 - £20.00   | 472 | A tray of interesting china £10.00 - £20.00               |
| 433        | An old oil paitning on board £10.00 - £20.00   | 473 | 3 items of Toby Jugs and Doulton jugs £10.00 -            |
| 434        | An old oil painting of Lincoln on board £10.00 -   |     | £20.00  |
|            | £20.00   | 474 | 2 old hard paste plates £10.00 - £20.00                   |
| 435        | 3 piece silver plate tea set with tray £10.00 - £20.00   | 475 | An old china vase and bisque jug a/f £10.00 - £20.00      |
| 436        | A large 20th c porcelain doll £10.00 - £20.00  | 476 | A quantity of old fans £10.00 - £20.00                    |
| 437        | A large bevelled mirror in gilt frame £10.00 - £20.00  | 477 | An old pine side table £10.00 - £20.00                    |
| 438        | 2 mirrored pedestals £10.00 - £20.00   | 478 | A large quantity of embroidered items £10.00 -            |
| 439        | A pair of pedestals £10.00 - £20.00  |     | £20.00  |
| 440        | 4 good items bubbled amber glass £10.00 - £20.00   | 479 | An old grandfather clock £10.00 - £20.00                  |
| 441        | A Ferguson Studio 1000 record player £10.00 -  | 480 | A 20th C wall clock £10.00 - £20.00                       |
|            | £20.00   | 481 | A pair of pictures in oak frames £10.00 - £20.00          |
| 442        | A Panasonic tape player in original box £10.00 -   | 482 | 2 oblong mirrors in gilt frames £10.00 - £20.00           |
| 440        | £20.00   | 483 | A gilt framed picture A Ride on the Beach £10.00 - £20.00 |
| 443        | A tray of wooden shoe stretchers £10.00 - £20.00   | 484 | An engraving of a lady in oak frame £10.00 - £20.00       |
| 444        | A picture of chickens in gilt frame £10.00 - £20.00  | 485 | A large triple door pine wardrobe £10.00 - £20.00         |
| 445        | A pair of Victorian brass twisted candlesticks and   | .50 | 7. 13. 30 triplo 3001 pillo wararobo £10.00 £20.00        |

- 486 A large 4 door, 2 drawer pine wardrobe £10.00 £20.00
- 487 A quantity of rugs £10.00 £20.00
- 488 A set of 4 dining chairs £10.00 £20.00
- 489 An old dolls house £10.00 £20.00
- 490 An old tray table, old stool and pouffe £10.00 £20.00
- 491 3 old Edwardian chairs £10.00 £20.00
- 492 A low old pad foot chair £10.00 £20.00
- 493 A 3 drawer, 3 door side cupboard £10.00 £20.00
- 494 An old radio £10.00 £20.00
- 495 An old pig skin suitcase £10.00 £20.00
- 496 An old radio £10.00 £20.00
- 497 An old display cabinet base £10.00 £20.00
- 498 A quantity of glassware £10.00 £20.00
- 499 An old oak desk £10.00 £20.00
- 500 A 2 over 3 pine chest of drawers £10.00 £20.00
- 501 A 2 over 2 pine chest of drawers £10.00 £20.00
- 502 A desk with bookcase £10.00 £20.00
- 503 A fruit machine £10.00 £20.00
- 504 An old dressing table £10.00 £20.00
- 505 A pine bottle rack wth drawer £10.00 £20.00
- 506 An old wooden chair £10.00 £20.00
- 507 A teak table and 4 chairs £10.00 £20.00
- 508 A pine cabinet with 2 doors £10.00 £20.00
- 509 A Victorian fold over rosewood card table £10.00 £20.00
- 510 An oak standard lamp £10.00 £20.00
- 511 An oak 1920s wall clock £10.00 £20.00
- 512 3 boxes of books £10.00 £20.00
- 513 A red deep buttoned 2 seater and 1 seater suite £10.00 £20.00
- 514 A leather 3 seater settee £10.00 £20.00
- 515 A leather 2 seater settee £10.00 £20.00
- 516 A Victorian warming pan £10.00 £20.00
- 517 A quantity of china and glass £10.00 £20.00
- 518 A 2 drawer toilet mirror £10.00 £20.00
- 519 A Victorian oak wall shelf £10.00 £20.00
- 520 A lady's writing desk £10.00 £20.00
- 521 A Victorian mahogany chair £10.00 £20.00
- 522 A pair of Victorian lustres £10.00 £20.00
- 523 A good quality carpet £10.00 £20.00